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.�/��	 ������0�	 1���	 2�������'��#��	 �/3������	 �2����/���14$�3�	 2��5/��	 2/�#�'�#��
����	�o���'	��	 6���	'��/�������0�'�$-7	8��5/��	2/�#�'�#��	 ����	�����'	 1���	����6���$14
2�'���$-#��	�#�#�3�	2��5/���	'��/�	����'�1�9��"'7	��2��2�#�'�#�	�/3�����	#�/�9�	��
�/���	-�������$�#�$-	�/3�����"'	��#�����$�1#�$-	�	�2��$�'�#�	�����0	#�	2�����'��	�e��%
��	 ����:	 ����;2$��$-	 '���������14$�1	 �3"/#�	 �$-����	 ����/�	 �/3�5���$zno-logicznego.

Ogólny schemat modelu algebraiczno-logicznego stanowi pewien sposób reprezentacji
wiedzy o problemie. Model algebraiczno-logiczny jest modelem w przestrzeni stanów i prze-
znaczony jest do optymalizacji procesów decyzyjnych. Odpowiada on jedn�$��<#��	6����/#�1
2����$�	 '��/����2�'�3�	 2��$���	 ��$���1#�3�	 2�04$��#�3�	 �	 ����/�$14	 2��$���	 ������tnego.

=��;	 �3"/#�3�	 �$-�����	 ����/�	 �/3�5���$�#�%/�3�$�#�3�	 ��2��2�#�'�#�	 '	 >�?7
@$-����	 ��#	 2�'���0	 #�	 2�����'��	 ������	 /�3�$�#�%�/3�5���$�#�1 	 '2��'����#�1	 2����
�7AB�5#�$���3�	 >
?7	 =����4	 �/���	 ����/�	 �/3�5���$�#�%/�3�$�#�$-	 1���	 6��� 	 9�	 ���"'#�
'�2"0��;�#�	 ���#� 	 1��	 �	 ��$��1�	 C�����'�#��D	 ��34	 5�E	 ����##���	 �#��'��u�'���	 /�5
����##���	'�9���3�	��;��7	F�#�$1�	2���1<$��	�	�3��#�$��#��	��34	#��������	5�E	zdefi#��%
'�#�	���"'#�	��	2���$4	��/�9#�<$�	�/3�5���$znych jak i logicznych.

G�</�	2���1�����	��#�$��#��H	X	I	�5�"�	 ���#"'	'0�<$�'�$- 	T ⊂ R+ – podzbiór nie-
�1��#�$-	/�$�5	���$��'����$-	��2����#��14$�$-	$-'�/�	$����'� 	S = X × T – zbiór stanów
uogólnionych, U	I	�5�"�	��$��1� 	��	����/	��9#�	���6�#��'�E	1���	$�'"��;H

0( , , , )N GP s f S S= (1)

gdzie:
s0 = (x0, t0), s0 ∈ S I ��3"/#��#�	���#	2�$�4���'� 

f: U×S →S I 6�#�$1�	 $�;<$��'�	 C����</�#�	 ��/��	 �/�	 2�wnych par
(u, s) ∈ U× SD 	�'�#�	6�#�$14	2���1<$�� 

���⊂�� I �5�"�	��3"/#��#�$-	 ���#"'	#����2���$��/#�$- 
���⊂�� I #��2����	�5�"�	��3"/#��#�$-	���#"'	��$�/�'�$-7



()� *����	+�����'�$� 	,����	��$-�����

F�#�$1�	2���1<$��	1���	���6�#��'�#�	��	2���$4	�'"$-	6�#�$1�	��J	C�� 	��D 	3����H

��	�
 ×���×���→�� I ����</�	#���;2#�	���#	'0�<$�'� 
��	�
�×���×���→�� I ����</�	#���;2#�	����#�	$����	�	�2�0#��	#���;2�14$�	'���#��H

Δ��
���C� �� ��D	I��	��	'����<E	�����#�4	�	���:$��#47

���6�#��'�#��	 6�#�$1�	 2���1<$��	 1���	 6�#�$1�	 $�;<$��'�1	 2��'�/�	 #�	 �'�3/;�#��#��
'�������$-	�3��#�$��:	����$�4$�$-	��$��1�	�����14$�$-	��	2���$4	 ��'7	�5���"'	�����'�:
��9/�'�$-	'	���#��	s, oznaczonych Up(sD7	G�</�	��$��1�	u	 1���	��9/�'�	C��#��'#�D	'	���%
#��	s, ��	6�#�$1�	2���1<$��	1���	����</�#�	�/�	��1	2���	(u, s).	K	2���$�'#��	'�2����	#��	1���
����</�#�7

Zadanie poszukiwania rozw�4��#��	��2���$��/#�3�	2�/�3�	#�	�#�/����#��	$�43�	��$y-
�1�	'��#�$��14$�3�	���1������;	��2���$��/#47	��2�'���#��	����#��	�2����/���$1�	�����'a-
#��	2��$����	2�/�3�	#�	�#�/����#��	 �����3�	$�43�	�����'�:	��2���$��/#�$- 	��"��	�����e-
��/���1�	 2�'��#	 6�#�$1�#�0	 Q.	 ����#��	 �2����/���$1�	 ����</�#�	 1���	 �����	 2����	 ����/
2��$���	P oraz funk$1�#�0	Q i zapisywane jest jako para (P, Q).

����/	�/3�5���$�#�%/�3�$�#�	���#�'�	2�����';	��	�'����#��	�"9#�3�	�����1�	�/3oryt-
mów optymalizacji opartych na symulacji procesu decyzyjnego [3]. Ogólna zasada dzia0�%
#��	�/3�����"'	�2����$-	#�	����/�	�/3�5���$�#�%/�3�$�#��	1���	#���;2�14$�7	K	��9��� 
#�'�	 '��#�$��#��	 ���#��	 ����/�'�#�3�	 2��$���	 2���1��'�#�	 1���	 ��$��1�	 ����$�4$�
#���;2#�3�	 �����	 1�3�	 2��'����#��7	 +�$��1�	 ��	 '�5����#�	 1���	 �2�<�"�	 ��9/�'�$-	 C��n-
��'#�$-D	�/�	��#�3�	���#�	��$��1�7	+/�	��#�3�	���#�	�	'�5��#�1	��$��1�	��9#�	'��#�$��E
#���;2#�	���#	2��$���	����	��2�'����14$�	��	����#�	$����7	Ky�#�$��	��;	1� 	��������14$
�	 6�#�$1�	 2���1<$��	 2��$���7	 G�</�	 '��#�$��#�	 ���#	 #�/�9�	 ��	 �5����	 ���#"'	 ��$�/�'�$-
2��$��� 	2���5��3	����/�$1�	1���	����:$��#�	2���</#��	�	��9#�	����#�E	1�3�	�$�#�7	G�</�
#�'�	'��#�$��#�	���#	�	�'�4��#�	�	#��	$���	#��	�2�0#��14	'���#�"'	#����$�#�$-	�3��#i-
czeniami technologicznymi i czasowymi na proces, to stan ta��	�#�1��1�	��;	'	�5�����	��'7
���#"'	#����2���$��/#�$-	�	#��	��	��#��	2��'����#��	��lszej symulacji procesu.

L�	 2�����'��	 ����/�	 �/3�5���$�#�%/�3�$�#�3�	 ��9/�'�	 1���	 ��'����#��	 ���"'#�	 �/%
3o�����	���0��#�3� 	 1��	 �	�/3�����"'	2���5/�9�#�$-7	M��'�4��#��	���0�dne uzyskiwane
jest �����4	 2���3/4��	 ��2�0#�3�	 '	 0��'�	 �2��"5 	 3��9	 ����/	 ��2�'#��	 2���5���#��
'����t��$-	��9/�'�<$�	C'	��9���	���#��	s	1���	����</�#�	�5�"�	��$��1�	��9/�'�$-	��	2��%
1;$��D7	 L������� 	 1���	 9�	 �/3������	 ���0��#�	 ��34	 �6����'#��	 ����0�E	 ��/��	 �/�	 �#���#$1�
2��5/���	�	��0�$-	��������$- 	��14	�#�	�3��#�$��#�	�������'�#��7

����/	�/3�5���$�#�%/�3�$�#�	��1�	��9�	��9/�'�<$�	 �'����#��	�/3�����"'	2���5/�9o-
#�$-	 >N?7	 !0"'#��	 ����#���	 �����3�	 �/3������	 2���5/�9�#�3�	 1���	 ��2�'���#�	 '�5"�
�	2���1��'�#��	�ecyzji w trakcie symulacji procesu. Jednym ze sposobów jest wygenero-
wanie wszystkich decyzji ze zbioru Up(s)	��$��1�	��9/�'�$-	��	2��1;$��	'	��#��	���#��	s,
�$�#�	��$-	��$��1�	��	2���$4	/���/#�$-	2��$���� 	�	#���;2#��	'�5"�	1��#�1	�	#�$-7	=##��
2���1<$���	do wyznaczania decyzji w danym stanie jest jej ustalenie na podstawie specjal-
#��	���#�����'�#�$-	�����7	������	'�5���	�����1	��$��1�	����4	5�E	��2��1����'�#�	��� 



�/3�����	2/�#�'�#��	����	�����'	�/�	'��/�	����'�1�9��"' ())

�5�	 ��2�'#�E	 ���"'#�	 ��2���$��/#�<E	 ��$��1� 	 1��	 �	 ��2�'���#�4	 1���<E	 �'����#�$-	 #�

�$-	2�����'��	���'�4��:7	L�1$�;<$��1	��������	��;	�	�"9#�3�	�����1�	��3�0	2��������owych.
L���'��/�	�����#�	1���	�� 	�9	�/3������	��'����#�	#�	5����	6����/#�3�	����/�	1a���

1���	 ����/	 �/3�5���$�#�%/�3�$�#� 	 2������14	 #����/�9#�	 ��	 ��#����#�3�	 1;����	 2��3�amo-
wania �	 ���������	 ��#�$-7	 8��$���1#�	 ����</�#��	 ��0��#��"'	 �������	 ���9/�'��	 0��'�

'2��'����#��	�'�#���/#�$-	����6���$1�	'	�/3�������	$��	#�'��	$�0��'��4	����#;	���o-
dy optymalizacji. D/�	��3�	����3�	2��5/���	��9#�	2���E	�"9#�	�/3������	�2����	#�	�o-
delu algebraic�#�%/�3�$�#�� 	 �����	 ���#��1�	 ��9/�'�<E	 �5�����'#�3�	 2��"'#�#��	 �$-

�6�ktywno<$�	�	1���<$�7

8��2�#�'�#�	������/�3��	��	��$��3"/#�	�������'�#��	'	2��5/���$-	#�/�94$�$-	��

�/���	2��5/��"'	L8%����#�$- 	'	��"��$-	�2����/���'�#�	���������	 1���	 ������'#��	 ��%

2ar�'�/#�	�	��#���#�$�#��	���#4$�7

��
����
������	�

M��'�9�#�	 2��5/��	 ����$��	 2/�#�'�#��	 ����	 �����'	 �/�	 6����	 �����'$��1 	 ��"��
'�2"02��$�1�	�	'��/���	��5���$��� 	'	���	�	6������	2������14$���	'��/�	������0"'7	��%
����0�	6���	���2�����#�	�4	2�	$�0��	�5�0�3�'�nym obszarze. W firmie dostawczej za����%
#��#�	 1���	 2�'#�	 /�$�5�	 �����'$"'	 C����'�1�9��"'D 	 ��"���	 ��14	 ������$��E	 ��'��7
K	2���2����	6���	'��/��d����0�'�$-	#�12���'	#�/�9�	��'�����E	30"'#4	������5;	C'	$�/�
#�3�$1�$1� 	 ����/�#��	 '���#�"'	 �2�����9�	 ����$�4$�$-	 '�������$-	 ������0"'	 ��1	 6���� 
��27D7	���	2����'��#�	2��5/��	��9#�	2�������'�E	1���	�����6���'�#�	2��5/��	wielu ��%
��'�1�9��"'	�	'	�'�4���	�	���	�6����0�'�E	#���;2�14$�7	+�#�	1���	���2"0	����'�1a9�%
�"'	����	�5�"�	�����	��	��'�����#�� 	2���	$���	��9��	������	��2����#��1�	������5;	2�'#�1
6����	/�5	1�1	������07	+�#�	1���	��9	������	2�$�4���'�	C$��/�	6����	�����'$��D7	����'�1�%
9���'��	 '������14	 �	 ������	 2�$�4���'�3�	 �	 �$-	 ����#���	 1���	 ��'�����#��	 '�������$-
����� 	 �	#���;2#��	2�'�"�	��	������	2�$�4���'�3�7	�#�#�	�4	��/�30�<$�	��;���	2���$��%
3"/#���	��������7	��9��	������	C�2�"$�	2�$�4���'�3�D	����	�����E	��'�����#�	���0��%
#��	 1���#	 ��� 	2���	$���	��'�����14$��	��9�	5�E	��'�/#�	����'�1�9��	�	���2�0�7	+�%
�����'�	 9���#	 ����'�1�9��	 #��	 ��9�	 '������E	 ��	 ������	 ��2����#��14$�3�	 1���#	 �	 ��%
����0"'	 ��#�1	 6���� 	 ��#��	 #��	 �����#��	 ��'�����#�	 ������5�	 ��1	 6����7	 L��������	 1�9�/�
������5�	�����0�	1�9	��'�����#� 	��	��'�/#�	����'�1�9��	�	���2�0�	��9�	��'�����E	��ó��%
��/'���	�	1�1	������0"'7

Celem optymalizacji jest takie zaplan�'�#��	����	����'�1�9��"' 	�5�	$�0�	�5�"�	�����
5�0	��'�����#�	'	1��	#�1��"�����	$�����7

K	2��$�	2���1;��	#���;2�14$�	��#�$��#��H	�5�"�	����'�1�9��"'	��#�$��#�	�����0	2o-
przez M = {m1, m2, ..., m|M|}, zbiór miast do odwiedzenia poprzez N = {n1, n2, ..., n|N|},
miasto po$�4���'�	1���	n0.



()N *����	+�����'�$� 	,����	��$-�����

8�#����	���6�#��'�#�	�����0	$�43	E = (e1, e2, ..., eE) 	��"��3�	2���$��3"/#�	'�����	��
������	��2����#��14$�	������5�	6���	�	6����	1��#�������0�'�7	��9����	'�����'�	��3�	$�4%
gu ej (dla j = 1, ..., |E|) odpowiada jeden zbiór Fj miast reprezentu14$�$-	������0�	��#�1
6���� 	2���	$���	�/�	6���	1��#�������0o'�$-	�5�"�	����	1���	2����7	F����	1��#�������0�'�
��34	5�E	�����	������'�#�	1���	������%������5�	5��	������0"'7

��/�30�<$�	��;���	��������	2�������'��#�	�4	'	2����$�	��$�����	�d/�30�<$�	A, której
poszczególne elementy aij	����</�14	��/�30�<E	2���;���	�������	ni oraz miastem nj, gdzie
i, j = 0, 1, 2, ..., |N| oraz i ≠ j. 8���1��1�	��; 	9�	�/���#��	aii	'�#���4 #�����:$��#�<E7

8�#����	���0���	 ��; 	 9�	'����$�	����'�1�9���'��	2���"9�14	 �	 �4	 ���4 	 1��#�����'4
2�;���<$�4 	�����	'����<$�	$����	2���1����	�	2���#�'�#�1	'	���	$�����	���3�	�4	�����	�ame.

M��'�9�#�	2��5/��	#�/�9�	��	�/���	2��5/��"'	L8%����#�$- 	3��9	#�'��	��/����14$
2��5/��	 2����	 ���#�;$��	 �3��#�$��#��	 �'�4��#�3�	 �	 ��#��$�#�<$�4	 �����;2#��#��	 ��ast,
otrzymujemy nadal problem NP-trudny (problem m%����'�1�9��"'D7

��
 ����
��������!�
�"����!�
�
������	�

K	 #�#��1����	 �������/�	 2�������'��#�	 �����0	 ����/	 �/3�5���$�#�%/�3�$�#�	 ���'�9a-
#�3�	 2��5/���H	 2����E	 ���#�	 ������� 	 �5�"�	 ���#"'	 ��$�/�'�$-	 ����	 ���nu niedopusz-
czal#�3� 	2����E	��$��1� 	�5�"�	��$��1�	��9/�'�$-	��	2�d1;$��	'	2���$��3"/#�$-	���#�$-
����	�5�"�	��$��1�	��2���$��/#�$- 	�	���9�	�/���#��	��0���14$�	��;	#�	6�#�$1;	2���1<$��7

+/�	���'�9�#�3�	2��5/���	���#	�������	s = (x, t) w danej chwili czasu t	��9#�	�2�%
��E	 2����	 �����/#�	 ���#	 '�������$-	 ����'�1�9��"' ����	 �5�"�	 ��'�����#�$-	 �����7	 @��#
'0a<$�'�	�������	x	����</�#�	1���	#���;2�14$�H

0 1 2( , , , ..., )Mx x x x x= (2)

gdzie:
x0 – �5�"�	����� 	��"��	�����0�	��'�����#�	��	$-'�/�	t,
xk – stan k-tego komiwo1�9��� 	�/�	k = 1, 2, ..., |M|.

K	 ��#�1	 $-'�/�	 ����'�1�9��	 ��9�	 �/5�	 1�$-�E	 ��	 #���;2#�3�	 ������ 	 �/5�	 ���E
'	�����#��	��'�����#��	���<$��7	@��#	2�1���#$��3�	����'�1�9���	'	��#�1	 $-'�/�	 t jest
na��;2�14$�H

( , )kx n r= (3)

gdzie poszczególne zmie##�	2���1��14	'����<$�H
n∈N ∪ n0 – wyznaczone miasto 	��	��"��3�	����'�1�9��	 1����� 	 /�5	������	'	��"���

���� 
r ∈ R+ I �0�3�<E	 ��$�#��	 ���3�	 1���	 2������0�	 ����'�1�9���'�	 ��	 �����$��	 ��

'��#a$��#�3�	������O	'	2���2����	2����1�	����'�1�9���	2���1��'�#�
1���	'����<E	�7



�/3�����	2/�#�'�#��	����	�����'	�/�	'��/�	����'�1�9��"' ()P

��������������� s0 = (x0, t0)	�������	1���	#���;2�14$�H

0 1 2
0 0 0 0 00 0

M
x (x , x , x , ..., x ), t= = (4)

K	���#��	2�$�4���'��	C3��	t0 = 0) '����$�	����'�1�9���'��	���14	'	���<$��	2�$�4t-
kowym n0, zatem x0

k = (n0, 0). Ponadto w chwili t0	9��#�	������	#��	�����0�	��'�����#� 
�	'�;$	�5�"�	x0 jest zbiorem pustym: x0

0 = ∅.
W zbiorze stanów niedopuszczalnych SN	 �#�1��14	 ��;	 ���#�	 �'�4��#�	 �	 2������$�e-

#���	 '���#�"'	 �3��#�$��14$�$-	 �/�	 ��#�3�	 ����#��7	 K	 ���'�9�#��	 2��5/����	 ���#��
#����2���$��/#��	1���	���# 	'	��"���	'����$�	����'�1�9�rowie powrócili do miasta po-
$�4���'�3� 	�	#��	'��������	������	�����0�	��'�����#�7

( ) ( ) ( ) ( )( ){ }0
01,...,: , 0 0k

N k MS s x, t   x s N  x s n t== = ≠ ∧ ∀ = ∧ > (5)

.�/��	����'�1�9��"'	1���	��'�����#��	'�������$-	�����	�	2�'�"�	��	������	2�$�4t-
kowego n0. Zbiór stanów docelowych SG	1���	�����	#���;2u14$�H

( ) ( ) ( ) ( )( ){ }0
01,...,: , 0k

G N k MS s x, t s S x s N  x s n== = ∉ ∧ = ∧ ∀ = (6)

W danym stanie s	��9#�	'��"9#�E	#���;2�14$�	�'�	�5����H	����'�1�9��"'	'�/#�$-
MW(s)	����	����'�1�9��"'	��1;��$-	MZ(s).

�������������� �� w stanie s	��	����'�1�9�� 	��"��	����	'	���<$��	C�����#��	��'�e-
���#��	/�5	2�$�4���'��D	�	��9�	��	�����E	2�������/�#�	��/�1#�	������	��	��'�����#��7

( ) ( ){ }s : ( , 0)k
W kM m M x s n= ∈ = (7)

���������������!�� w stanie s	��	����'�1�9�� 	��"��	1�����	��	'��#�$��#�3�	������
/�5	����:$��0	�'�14	2���"9	�	2�'�"$�0	��	������	2�$�4���'�3�	0.

( ) ( ) ( )( ){ }0s : ( , 0) ( , 0) ( ) 0k k
Z kM m M x s n r x s n r t s= ∈ = > ∨ = = ∧ > (8)

W danym stanie s = (x, t) podejmowana jest decyzja, na podstawie której system
prze2��'����#�	1���	��	#���;2#�3�	���#�7	K��#�$��#�	��$��1�	u(s) ����	#�/�9�E	��	�5��%
��	Up(s)	��$��1�	��9/�'�$-	C��#��'#�$-D	'	��#��	���#��.

K	 ���'�9�#��	 2��5/����	 2���1;�� 	 �9	 ��$��1�	 �	 2�������/�#��	 ����'�1�9���'�	 #a-
��;2#�3�	 ������	 ��	 ��'�����#��	 ��9�	 5�E	 2�d1;��	 ��2����	 2�	 �����$��	 ����'�1�9���	 ��
������	 2�2����#��	 '��#�$��#�3� 	 2�#����	 2��1;��	 ��$��1�	 #��	 �/�3�	 ����#��7	 K	 ��#�e-
�'�#$1�	 2�'�9���$-	 ��0�9�: 	 �/�	 ����'�1�9��� 	 ��"��	 1���$��	 #��	 �����0	 ��	 '�����#�3�
��	 '$��<#��1	 ������ 	 ���'�/�#�	 1���	 ��/��	 ��$��1�	 �	 ��#��#��$1�	 2��������$��#��	 ��;



()( *����	+�����'�$� 	,����	��$-�����

'	�����#��	��3�	������7	L��������	�/�	����'�1�9��� 	��ó��	'	��#�1	$-'�/�	���� 	��9�	��%
���E	2��1;��	��$��1�	�	��'�����#��	��/�1#�3�	������ 	�	2�'��$��	��	������	2�$�4���'�3�
/�5	�	2������#��	'	��#��	���<$��7	��/�1#��	�������	'�����#��	��	��'�����#��	��9�
5�E	��/��	������	#����'�����#� 	��	��"��3�	#��	�������	�����/#��	9���#	�	����'o1�9��"'7
G��#�$��<#��	������	�����	����	��2����#��'�E	������5;	6����	�/5�	������0	�����1	6���� 	��"%
��1	������5�	�����0�	1�9	��'�edzona.

�'�3/;�#��14$	 2�'�9���	 ���'�9�#��	 ��������;	 ��$��1�	 u ��9#�	 ���6�#��'�E jako
m-elementowy wektor u = (u1, u2, …, u|M|) 	3����	��/�1#�	'�2"0��;�#�	��#�$��14	���;5#�
�ecyzje dla poszczegó/#�$-	����'�1�9��"'7

K����<$�4	��9��1	'�2"0��;�#�1	uk	1���	������ 	��	��"��3�	����'�1�9��	��	1�$-�E	/�5
'	��ó���	��	#���/	���E 	$��/�	'����<E	uk ∈ N ∪ n0.

.�0�	�5�"�	��$��1�	��9/�'�$-	'	���#��	s = (x, t)	1���	#���;2�14$�H

( ) ( ) ( ) ( )1 2 ... \m
p p p pU s U s U s U s H= × × × (9)

gdzie H – zbi"�	��$��1�	2�������/�14$�$-	1��#�$��<#��	��	����	������	��	��'�����#��	'�;%
$�1	#�9	 1��#���	����'�1�9���'�	����	#��'��#�$��14$�$-	9��#�3�	#�'�3�	������	��	�d-
wiedzenia w sy���$1� 	�����	'����$�	����'�1�9���'��	'	��#��	���#��	�4	'�/#�7

G�9�/�	#��������	��$��1�	��9/�'�	2���2��'����	���#	s = (x, t) do zbioru SN, to jest to
decyzja niedopuszczalna. Zbiór decyzji dopuszczalnych Ud (s) w stanie s definiowany jest
zatem na��;2�14$�H

( ) { }( ) : ( , )d p NU s u U s s f u s S′= ∈ = ∉ (10)

��/�1#�	2��1;��	��$��1�	�'���4	$�43	��$���1#�	 1 2( , , ..., )cu u u u=�  gdzie c	1���	/�$�54
2��1;��$-	��$y�1�7	.�43	��$���1#�	'��#�$��	1��#��#�$�#��	1��#4	�	���1�������	��stemu.

Na podstawie aktualnego stanu s = (x, t) i decyzji u 2��1;��1	'	���	���#�� 	3�#���'a#�
1���	��	2���$4	6�#�$1�	2���1<$��	f	#���;2#�	���#	s′ = f (u, x, t)7	F�#�$1�	2���1<$��	1���	���6i-
niowana	��	2���$4 dwóch funkcji ( , ),x tf f f=  gdzie fx	����</�	#���;2#�	���#	'0�<$�'� 
�	ft okre</�	#���;2#�	����#�	$�asu.

K��#�$��#��	 6�#�$1�	 2���1<$��	 1���	 ����#���	 ���5�#�����$�#��7	 L�/�9�	 ���'�9�E
�"9#�	��9/�'�	2���5����	���#"'	�	2���1<$��	2���;���	#���7	��#��$�#�	1���	����</�#�� 	1a-
���	 ���#�	 ��9���	 �������E	 '	 '�#���	 ���/���$1�	 ��#����#�1	 ��$��1� 	 ����	 '	 1���	 �2��"5
#a/�9�	�5/i$��E	'����<$�	2���$��3"/#�$-	��0��#��"'	#���;2#�3�	���#�7

K	$�/�	����</�#��	����#��	 t"	'���42��#��	#���;2#�3�	 ���#�	 C$��/�	 #�15/�9���3�	�o-
��#�� 	'	��"���	$�	#�1�#��1	1���#	����'�1�9��	������	��	'��#�$��#�3�	������D 	�/�	��9%
��3�	 ����'�1�9���	 �5/�$��#�	 1���	 $���	 tk	 #���5;�#�	 #�	 ����/���'�#��	 2�d1;��1	 �/�	 #��3�
��$��1�7	L�1�#��1���	�	��$-	$��sów wyznacza czas t':

1,2,...,
, gdzie min k

k M
t t t t t

=
′ = + Δ Δ = (11)



�/3�����	2/�#�'�#��	����	�����'	�/�	'��/�	����'�1�9��"' ()Q

Po wyznaczeniu chwili t" = t+Δt	 '���42��#��	 #���;2#�3�	 ���#� 	 �5/�$��#�	 �4	 #�'�
'�r��<$�	'�2"0��;�#�$-	���#�	'0�<$�'�3�7

Zbiór x0, $��/�	2���'���	'�2"0��;�#�	���#�	s′, która reprezentuje zbiór odwiedzonych
����� 	 ��'����	 �������'�	 ��	 ������ 	 ��	 ��"��$-	 ��1�$-�0	 1���#	 �	 ����'�1�9��"'	 '	 �o-
mencie t":

( )( ){ }0 0
1,2,...,| |: k

k M kx x n N u s n t t=′ = ∪ ∈ = ∧ = Δ∃ (12)

@��#�	2���$��3"/#�$-	����'�1�9��"'	�"'#��9	�4	2���2��'����#�	��	#�'�3�	���#�H

( ), , dla 1, 2, ..., | |k k
xx f u x t k M′ = = (13)

G�</�	2���1���	��; 	9�	xk=(n, r) przechodzi w xk′ = (n′, r′) 	��	'	��/�9#�<$�	��	���/���'�%
#�1	�e$��1� 	'����<$�	2���$��3"/#�$-	�/���#�"'	���#�	����'�1�9���	xk

" w chwili t" = t + Δt
wy#���4H


D +/�	�%��3�	����'�1�9���	'�/#�3�	'	��#��	���#��	# 	���14$�3�	'	���<$��	�� 	�/�	��"��%
3�	�����0�	2��1;��	��$��1�	��C#D	J���	�	��'�����#��	������	��	 C'	 ���	�	2�'��$��	��
������	 2�$�4���'�3�DH

0 gdy
'

gdy

j

k

ij k

n n

t t
r

a t t

′ =

= Δ⎧⎪= ⎨
− λ > Δ⎪⎩

C
�D

�D +/�	�%��3�	����'�1�9���	'�/#�3�	'	��#��	���#��	# 	���14$�3�	'	���<$��	�� 	�/�	��"��%
3�	�����0�	2��1;��	��$��1�	��C#D	J���	�	2������#��	'	���	���<$��H

0

in n

r

′ =

′ =
C
)D

�D +/�	 �%��3�	 ����'�1�9���	 ��1;��3�	 '	 ��#��	 ���#��	 # 	 �������14$�3�	 ��	 '�����#�3�
'$��<#��1	������	�� 	'	���	��	������	2�$�4���'�3�H

0 gdy

gdy

i

k

k

n n

t t
r

r t t

′ =

= Δ⎧⎪′ = ⎨
− λ > Δ⎪⎩

C
ND

3����	λ�$���/�30�<E	1��4	2���#�1�	����'�1�9��	'	$�����	Δ�7



(N� *����	+�����'�$� 	,����	��$-�����
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L8%����#�<E	2��5/���	��2/�#�'�#��	����	�����'	�/�	'��/�	����'�1�9��"'	������#��
�������'�#��	�/3�����"'	2���5/�9�#�$-	��	1�3�	���'�4��#��7	��2��2�#�'�#�	�/�	���'a-
9�#�3�	 2��5/���	 �/3�����	 #�/�9�	 ��	 �/���	 -�������$�#�$-	 �/3�����"'	 ��#�����$�1#�$-
�	�2��$�'�#�	�����0	#�	2�����'��	������	����:	����;2$��$-	>�?7

K	 ��������	 ����:	 ����;2$��$-	 ��#�����'�#�	 1���	 '	 2��������#�	 ���#"'	 2�1���#$��
���1�������7	K	��9���	���'�9�#��	���#��	s procesu decyzja wyznaczana jest na podstawi�
�2�$1�/#��	 ���#�����'�#�3�	 ����#��	 �2����/���$1� 	 �'�#�3�	 ��/�1	 ����#���	 ����;2$���
ZZ(s)7	K	�"9#�$-	���#�$-	2��$���	����#��	��	��9�	���E	�##4	2����E7	.�/��	�'����#��	�a-
��$-	����:	 1���	�0��'��#��	'��#�$��#��	��$��1�	'A��#��	���#��	2�2����	����42��#��	�2�y-
malizacji zadania globalnego prostszym zadaniem lokalnym. Po wyznaczeniu decyzji ge-
ne��'�#�	1���	#���;2#�	���#	���1�������	s′, dla którego ponownie przeprowadzana jest „au-
to����$�#�	 �#�/���R	 2��$��� 	 ��14$�	 #�	 $�/�	 '�3�#���'�#��	 #�1/�2���3�	 ��$�#��
���1��torii ze stanu s′ do zbioru stanów docelowych SG7	K	'�#���	��1	�#�/���	����</�#�	1���
#�'� 	�����6���'�#�	����#��	����;2$��7	���	'�;$	'A��9��1	�����$1�	�5/�$��#��	2��'����%
#�	�4	#�	�'"$-	2������$-H


D 2�����	��������$�#�1	�#�/���	2��$���	�	���#�����'�#��	����#��	����;2$��3� 
�D 2�����	 '��#�$��#��	 ��9/�'��	 ��5��1	 ��$��1�	 �/�	 ����/���'�#��	 ����#��	 ����;2$��3�

�A�5/�$��#��	#���;2#�3�	���#�7

�5�	��9#�	5�0�	����</�E	����#��	����;2$�� 	���#�'�4$�	2�����';	'�5���	��$��1� 	��%
#��$�#�	1���	�#�/���	2��$���	'	��#��	���#��7	L�	1�1	2�����'��	����</�#�	�4 	'	�2��"5	-��%
�����$�#� 	��'7	$�/�	2�<���#�� 	��"��	�4	#���;2#��	'���������'�#�	��	���6�#��'�#��	�5����
���#"'	��$�/�'�$-	����#��	 ����;2$��3�	SGz. Jako �� ���%��&���&	 �������#�	 1���	 1��	#�1%
���5���	���43#�;$��	2����	2��$��	 ���#�	#�/�94$�3�	��	2�'#�3�	'��"9#��#�3�	�5����	 ��a-
nów Sd.

��2��2�#�'�#�	�/3�����	�2����	��;	#�	��������	����:	����;2$��$-	�	#�	1�3�	2�����5�
'	���'�9�#��	2��5/����	����</�#�	�����0�	$�/�	2�<���#��	�'�1����3�	�odzaju:

I ���43#�;$��	1��	#�1���5$��1	�����3�	���#� 	'	��"���	��'�����#�	1���	������	��2����#%
��14$�	������5;	1��#�1	�	6���	/�5	6���;	1��#�������0�'4 

I ���43#�;$��	 1��	#�1���5$��1	 �����3�	���#� 	'	��"���	��'�����#�	�4	'��������	������
��2����#��14$�	������0�	1��#�1	�	6���7

�����	#�	5����	��9��3�	������	ni 5;�4$�3�	�/���#���	$�43� E	����</�#�	1���	$�/	2o-
<���#� di

[1] pierwszego typu (i∈{1, 2, ... |E|SD7	��2�'���#��	$�/��	2�<���#��	1���	'����
���43#�;$��	1��	#�1���5$��1	���#�	#�/�94$�3�	��	�5���� [1]:

id
S

( ) ( ){ }[1]
0, :

i
id

S s x t n x s= = ∈ (17)

Natomiast na ba���	 ��9��3�	 �	 2���5���"'	 Fi miast ��2����#��14$�$-	 ������0�	 2o-
szczególnych firm ni 	 ����</�#�	 1���	 $�/	 2�<���#�	 di

[2] drugiego typu (i ∈ {1, 2, ... |E|}).



�/3�����	2/�#�'�#��	����	�����'	�/�	'��/�	����'�1�9��"' (N


Od2�'���#��	$�/��	2�<���#��	1���	'����	���43#�;$��	1��	#�1���5$��1	���#�	#�/�94$�3�	��
�5���� zdefiniowan�3�	 #���;2�14$�H

( ) ( ){ }[2]
0, :

ii
n Fd

S s x t n x s∈= = ∀ ∈ (18)

K	��9���	���#��	�����/���'�#�	1���	�5�"�	$�/"'	D. 8�	2���'��� 	���'�#�	�4	�	#��3�
$�/�	����/���'�#� 	 ��#7	 1�9�/�	��'�����#�	 1���	 1����<	������	��2����#��14$�	������5;	6���� 
��	���'�#�	1���	$�/	�	#��	�'�4��#�	����	1�9�/�	��'�����#�	�4	1�9	'��������	������0�	1��#�1
6���� 	��	���'�#�	1���	$�/	�	#���	�'�4��#�7	8�	���3�� 	����'�#�	�4	��	�5����	D cele di

[2]

���3��3�	��2� 	�'�4��#�	�	������0���	6��� 	��"��$-	������5�	'0�<#��	�����0�	��'�����#�7
=����#�	1��� 	9�5�	��	���/���$1�	'�5����#�	5�0�	$�/�	2�<���#��	��� 	�5�	1��	#�1���5$��1

�����;2#�E	 '��/�	 ������0"' 	 �/�	 1��#�$��<#��	 ����'�1�9���'��	 �����'�/�	 ��;	 ��	 �����
�#�1��14$�$-	��;	#�15/�9�17	8��������	p $�/�	2�<���#��3�	d	��/�9�	'�;$	'2����	2��2��$1�#�l-
nie od liczby n����'�����#�$-	1���$��	������0"'	��#�1	6���� 	�	��'���#��	2��2��$1�#�/#��
��	 ��/�30�<$�	 ������5�	 C�/�	 $�/"'	 2���'���3�	 ��2�D	 /�5	 #�15/�9���3�	 ������0�	 C�/�	 $�/"'
���3��3�	 ��2�D	��	�����/#�3�	2�0�9�#��	����'�1�9��"'	'�/#�$-	'	��#��	���#��	 s. Wy-
znaczany jest	#�	2�����'��	#���;2�14$�3�	'����H

( )0

min

| \ |
( ) i

i
F x s

p d
a

= (19)

gdzie amin	 ��	 ��#���/#�	 ��/�30�<E	 ��	 '�������$-	 ��/�30�<$�	 ��;���	 �������� 	 '	 ��"��$-
�#�1��14	��;	�����/#��	����'�1�9���'��	m ∈ MW(s), �	��������	�'�4��#���	5��2o<���#��
�	$�/��	d ∈ D.

K	��9���	�����	'�5����#�	 1���	 ����</�#�	 /�$�5�	 $�/"'	�	#�1'�9�����	'����<$����
2��������"' 	 ��"��	 �'����	 �5�"�	 $�/"'	 2�<���#�$-	 '�5��#�$-	 ��	 ���/���$1� DW(s)7	 .�/�
'	��9���	���#��	'�5����#�	�4	#�	#�'�	#�	2�����'��	�����/#�$-	2��������"'7

�5�	'��#�$��E	��$��1; w danym stanie s,	#�/�9�	'��#�$��E	'��������	'�2"0��;�#�
��1	��$��1� u = (u1, u2, …, u|M|)7	K�2"0��;�#�	uk(s)	'��#�$��#�	�4	2�	��/��	�/�	2o��$��3"/%
#�$-	����'�1�9��"'	�'�3/;�#��14$	#���;2�14$�	2���2����H

I 1�9�/�	�%��	����'�1�9��	1���	��1;��	C1�����	��	�'��3�	������D 	��	�/�	#��3�	��9#�	2��14E
1���#��	��$��1;	�	��#��#��$1�	����0�#��H

k
iu n= C��D

I 1�9�/�	�%��	����'�1�9��	1���	'�/#�	C����	'	�%���	���<$��D 	��	2�������/���	��	��	��%
'�����#��	������	��	I�#�15/�9���	��	'�������$-	�����	�'�4��#�$-	�	$�/���	'�5��#���
�����/#��	��	���/���$1��&�∈ ()C#D7	�$��'�<$��	����	5�E	��	������	��	��1	2���	#����'��%
���#�	�#�	#��2�������/�#�	'$��<#��1	 �##���	����'�1�9���'�7
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k
ju n= C�
D

I 1�9�/�	 #��	 ��	 1�9	 9��#�$-	 �����	 ��	 ��'�����#�� 	 ��	 �%����	 ����'�1�9���'�	 2���%
����/���	 2�'�"�	 ��	 ������	 2�$�4���'�3�	 C/�5	 ��/���	 2���"1	 '	 ���<$��	 2�$�4���%
'��DH

0
ku n= (22)

8�#�9�1	2�������'��#�	�����#4	�'��	'���1�	��3�	�/3������7

Algorytm 1

����	
7 ����/�#��	2�$�4���'�3�	���#�	2��$���	s := s0
Krok 2. Ustalenie	�5����	$�/"'	2�<���#�$-	D

L�	 5����	 ��9��3�	 �	 �����	 ni ∈ E	 ��2����#��14$�$-	 ������5�	 6���	 �	 6����
1��#�������0�'�	 '��#�$��#�	 1���	 1���#	 $�/	 2�<���#�	 di

[1]7	 *�$�5�	 $�/"'
2�<��dnich jest zatem równa |E|.

����	�7 K��#�$��#��	2��������"'	$�/"'	2�<���#�$-
Dla ��9��3�	$�/�	2�<���#��3�	d obliczany jest priorytet p(d)	'��0�3	'����
C
QD7

Krok 4. Wyznaczenie zbioru DW(s)
W zbiorze DW(s) umieszczanych jest |MW(s)|	$�/"'	2�<���#�$-	�	#�1'�9���$-
2���������$-7	G�9�/�	�5�"�	D	1���	�#��1	/�$�#�	#�9	�5�"�	MW(s), to w zbiorze DW(s)
znaj����	��;	|D|	$�/"'	2�<���#�$-7

Krok 5. Wyznaczanie decyzji dla danego stanu 1 2( ) ( , , ..., )Mu s u u u=
+/�	��9��3�	����'�1�9���	'��#�$��#�	1���	��$��1�	uk(s) odpowiednio o konty-
nu�$1�	����0�#��	/�5	���/���14$�	$�/�	2�<���#��	d ∈ DW(s).

Krok 6. Ob/�$��#��	#���;2#�3�	���#� s′
Na podstawie aktualnego stanu s = (x, t) i wyznaczonej decyzji u(s)	�5/�$��#�
1���	#���;2#�	���#	2��$���	s′	��	2���$4	6�#�$1�	2���1<$��H	s′ = f(u, s).

Krok 7. Sprawdzenie warunków stopu
G�9�/�	���#	s′	#�/�9�	��	���#"'	��$�/�'�$-	/ub niedopuszczalnych, to genero-
wanie trajek�����	�����1�	����:$��#�	�	'�2���'�#�	1���	������#�	'�#��7
K	2���$�'#��	2���2����	#�/�9�	2���1<E	��	�����	(7

����	(7 �����/���$1�	�5����	$�/"'	2�<���#�$-	D
8�	'��#�$��#��	#���;2#�3�	���#�	 s′ aktualizowany jest zbiór D	 $�/"'	2�<��d-
nich: ���'�#�	�4	�	#��3�	$�/�	����/���'�#� 	�	����'�#�	�4	$�/�	di

[2]	�'�4��#�
�	�����a0���	6��� 	��"��$-	������5�	'0�<#��	�����0�	��'�����#�7

����	Q7 =#�$1�'�#��	#���;2#�1	 �����$1�	�/3������
Podstawiane jest: s: = s′
L���;2#��	#�/�9�	2���1<E	��	�����	� 	$��/�	��	'��#�$��#��	2��������"'7
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Algorytm 2

Algorytm 2	 1���	����6���$14	algorytmu 1	 �	 �"9#�	��;	��	#��3�	 ��/��	 /�$�54	$�/"'	2o-
<���#�$-	'�5����#�$-	��	�5����	DW(s) 	$��/�	�������	�7	����	��#	1���	#���;2�14$�7

Krok 4. Wyznaczenie zbioru DW(s)

W zbiorze DW(s) umieszczanych jest |M|	 $�/"'	 2�<���#�$-	 �	 #�1'�9���$-	 2����y��%
��$-7	G�9�/�	�5�"�	D	1���	�#��1	/�$�#�	#�9	�5�"�	M, to w zbiorze DW(s)	�#�1����	��;	|D|
$�/"'	 2�<���#�$-7

%�
&���
��
��	���!��
�

K	����$-	���2�����#�"'	�2��'���#�	����0�#��	�wóch wersji zaproponowanego al-
3������	 �/�	 2��5/���	 2/�#�'�#��	 ����	 �����'7	 �����	 2���2��'����#�	 �/�	 2����0���	 �a-
$���2#�;��3�	�	5�5/������	�@8*=BQ)	 >P?7	���3�#�/#�	2����0��	 Cbayg29D	����$��0	 �#���#$1�
2��5/���	 ����'�1�9���	 �/�	 �Q	 �����	 �	 �����0	 �����6���'�#�	 2����	 '��#�$��#��	 ������

2�$�4���'�3� 	 �	 ���9�	 ����/�#�� 	 ��"��	 �	 �����	 ��2����#��14	 ������5�	 6���	 ����	 ������0�
2o��$��3"/#�$-	6���7	8���1;��	2���	 ��� 	9�	6����	2������14	�"9#4	 /�$�5;	������0"'. Roz-
wa9�#�	2���2���� 	'	��"���	6����	�����'$��	������#��	�'"$-	����'�1�9��"'7	L� rysun-
ku 1 przed���'��#�	 T��2;R	 �����7	 ������	 2�$�4���'�	 ��#�$��#�	 ��/����	 $���'�#��7

��9��1	 6�����	 C��#7	 ������5��	 ����	 �'�#���/#��	 ������0��D	 2���2���4���'�#�	 ���;5#�
��lor. Do�����'�	�"0����	��#�$��#�	������	��2����#��14$�	��edziby.

8���5���#�	 �����0�	 �5��	 '���1�	 ��2��2�#�'�#�3�	 �/3������ 	 $��/�	 '���1� 	 '	 ��"��1

��	 �5����	 $�/"'	2�<���#�$-	'�5��#�$-	��	 ���/���$1� DW(s) wybierane tyle jest celów, ile
jest wolnych ko��'�1�9��"'	����	'���1� 	'	��"��1	��	�5����	DW(s)	'�5����#�	�4	��'���
�'�	$�/�	C3��9	����	1���	�/�<E	'�������$-	����'�1�9��"'	'	���'�9�#��	2����0�����D7

8�#����	�/�	2��"'#�#��	���'�9�#�	�#���#$1�	2��5/���	2/�#�'�#��	����	�����'	����a-
0�	 ���'�4��#�	 ��	 2���$4	 �����6���'�#�3�	 �/3������	 T#�15/�9���3�	 �4�����R7	 �/3o����
��#	����0�0	 1��	�/���$�#�	�/3�����	#�15/�9���3�	�4����� 	�	 �4	 �"9#�$4 	9�	#��	'�5����#�	��

'�������$-	�����	 �	 1���#��	 �	 �����/#��	����;2#�$-	 C$��/�	�����	 ��2����#��14$�$-	 �����i5�
/�5	������0�	6��� 	��"��$-	������5�	�����0�	1�9	��'�����#�D7

+/�	�5�	'���1�	 ��2��2�#�'�#�3�	 �/3������	����	�/�	 �/3������	T#�15/�9���3�	 �4��a-
��R	'��#�$��#�	���'�4��#�� 	$��/�	$���	'	��"���	����'�1�9���'��	��'�����/�	'��������
������	�	2�'�"$�/�	��	������	2�$�4���'�3�7	+/�	�/3������	
	�������#�	'�#��	

(� 	�	�/�
�/3������	 �	 '�#��	 '�#�"�0	 

Q�7	 M���/���	 ������#�	 ��	 2���$4	 �/3������	 #�15/�9���3�

�4�����	��	
���7
L�/�9�	 ��9	 #�����#�E 	 9�	 ���'�4��#��	 ���0��#�	 �/���$�#�3�	 2�oblemu komiw�1�%

9���	�/�	2���1;��$-	��#�$-	'�#���	
N
�	>P?7	L�	2�����'��	��3�	'�#���	��9#�	����$�'�E

��/#�	 �3��#�$��#��	 �/�	 ���'�9�#�3�	 2��5/��� 	 5���4$	 2��	 �'�3;	 6��� 	 9�	 1���	 �'"$-



(N� *����	+�����'�$� 	,����	��$-�����

����'�1�9e�"'	����	9�	��9��	�	#�$-	����	2�'�"$�E	��	������	2�$�4���'�3�7	����$�'�#�
'	�en spo�"5	'����<E	'�#���	(�
 	2���	$���	#��	�'�3/;�#��#�	�����#�3�	�3��#�$��#�� 	�9
#��	'��������	��a���	�4	��	����	����;2#�	��	��'�����#��7

'���	��	M�������$��#��	�����	'	�#�/���'�#�1	�#���#$1�	2��5/���	2/�#�'�#��	����	�����'

L�	 2�����'��	 ������#�$-	 '�#��"'	 ��9#�	 ��'������E 	 9�	 ��2��2�#�'�#�	 �/3������
������$��0�	��<E	��5��	2���5/�9�#��	 ���'�4��#��	2��5/���7	�������#�	 ����/����	 �4	 /�2���	��
'y#���	������#�3�	�����6���'�#��	�/3�������	#�15/�9���3�	�4�����	C�	
P �U	�	�	
N )UD 
#��������	��	��/#�3�	�3��#�$��#��	2��5/���	���/����'�#�3�	�4	3�����	�	��7	��U7

��2����#��'�#�	'�#���	���#�'�4	��/��'��	2�$�4���	2��$	#��	�������'a#���	������
����:	 ����;2$��$-	 �/�	 2��5/��"'	 2/�#�'�#��	 ����	 �����'	 �	 �##�$-	 2��5/e�"'	 ��1	 ����1
�/���7	K	��/���$-	2��$�$-	2/�#�'�#�	 1���	2���5���#��	��;���	 �##���	 �"9#�$-	�2��o5"'
'��#�$��#��	2��������"'	�/�	$�/"'	2�<���#�$-.

(�
)����	���
��

K	������/�	2�������'��#�	2��5/��	2/�#�'�#��	����	�����'	�/�	'��/�	����'�1�9��"'7
��2����#��'�#�	�����0	����/	��3�	2��5/��� 	�	'�;$	2����E	���#�	������� 	2����E	�e$��1� 
�5�"�	��$��1�	��9/�'�$-	��	2��1;$��	'	2���$��3"/#�$-	���#�$-	����	�biór decyzji dopusz-
czalnych. Przed���'��#�	�����0�	�/���#��	��0���14$�	��;	#�	6�#�$1;	2���1<$��7
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